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[ Read this dialogue and answer the questions below.

Police officer:
Driver:
Police officer;
Driver:
Police officer:
Driver:

Police officer:

Driver:

Police officer:

Driver:

Good evening, sir. Would you mind stepping out of your car for a moment, pleaze?

{ [y | Is something the matter?

( B ) on this road, aren’t you?

Forty miles per hour, I think, But I'm sure | was doing less than that.

( c I, the limit here iz 50, but you were doing 78 around thai bend,

I find that rather hard to believe, How ecan you be so sure?

I've been driving behind you for the last 12 miles. Didn't you see me in your rearview
mirror?

{ (#] 1 was too busy enjoying the scenery.

Well, I'm afraid I'm going to have to give you a speeding ticket., Please be more careful
in the tutu.m

Just a minute! If you were behind me all that time, doesnt that mean wvou were
speeding, too?

1 Choose the most suitable phrase from those below to fill in blank space (A,

{a) If you please.

{h) Tt's a fact.

{e) Neither would I
?( d} Not at all.

(e} Bo it seems.

2 TUse the seven words below to fill in blank space (B) in the best way. Indicate your choices for the
first, third, and fifth positions.

? ia) are

(el apeed

(h) aware (e} limit (d) of
(f) the {g) you

3 Choose the most suitable phrase from those below to fill in blank space (G).
fal Allin all
(b} As it happens ?
{e) By all means

id) In a while

{e) Justin case

4 Choose the most suitable phrase from those below to fill in blank space (D).
(a) T can't say I did.
(b) I don’t say I have. ?
{e) T must say I do.
{d) T zhould say I could.
{e) I wouldn't say I can.

V  Read the statement below and write a paragraph giving at least two reasons why
you agree or disagree with it. Write your answer in English in the space
provided on your writien answer sheet.

(It is suggested that you spend no more than 15 minutes on this section.)

9

“The Olympic Games should be abolished.”


roba
ヒント・コメント
Would you mind ... ?への同意の答え。中学レベルの英語です。

roba
ヒント・コメント
Are you aware of the speed limit?となる。6番目を聞かれると、limit speedと迷うところ。それを避けるために、１、３、５番目を問うているのでしょう。

roba
ヒント・コメント
実際は、５０マイル/時なので、「あいにく」という警官の反応。ａ）All in all, c)By all means, d)In a case, e) Just in caseの選択肢も意味、使い方の確認を。特にall in allは頻出。

roba
ヒント・コメント
過去の事実について答えているので、（ａ）しか選らばらない。ｄ）は、couldが仮定法過去と考えても、過去についていっている内容ので不適。

roba
ヒント・コメント
賛成にしても、反対にしても、「廃止すべき」という主張の根拠を的確に示すことができれば、よい作文になるでしょう。書いてもらえれば、チェックします。これも、この時期「解答例」などを参考にしてしまうと、試験で失敗します。まず、自分で書きましょう。




